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(\TT-37) Section -A
g fased w51 Multiple Choice Question (16X1=16 Marks)
Q1. ST ST BT HY T AR1 g TRl FI1 0
(a) o TaT FiT AISTATE AT HeT T2 F TaGH FTATeaT= (b) ZrEET T Tiaefterar, aTarawor aaa HdT §
ORIERIEIEREIC S (d) T T+
Planning may not guarantee success because
(a) Top level plans and middle level management implements

(b) Dynamics of business, environment may change (c) Planning is futuristic ~ (d) All of these.
Q.2 7% st Ay i Froo g oA 2
(a) TATE 1990 (b) TATE 1991 (c) S[ATE 1993 (d) S[ATE 2001

When Was a new economic policy announced?
(a) July 1990 (b) July 1991 (c) July 1993 (d) July 2001
Q.3 40 TE ]
(a) T F7 (b) =T F7 (c) FEer &7 (d) =¥ & F1E 7EH
Supervision is an element of

(a) leadership (b) planning (c) direction (d) none of these

Q.4. =Tt ISt i sraeaar gt 8
(a) <A =T &1 AT F2 & o (b) i @dew F o () w=iF @died F forw (d) Sl 7 qErar w3 & o
Fixed capital is required :
(a) For payment of routine expenses (b) For purchase of land

(c)For purchasing stock (d) For payment to creditors
Q.5 AqT eI § HH AAT 8
() ITAF T (b) T H (c) UHFTFT (d) TAH F FE AL
The leader takes work from his subordinates:

(a) By tact (b) By Rod (c) By threatening (d) None of these



Q.6. Ao sremo §
(a) ITTRIET (b) =@l (c) UTEHI=HET (d) SULIE dIt
(Marketing concept is)-

(a) Production-oriented (b) Sales-oriented  (c) Customer-oriented (d) All the three
Q.7. et Fu o2 @ i wron f= R T o et & § o -
TMET (T): LT T ST 2Ti<h g
T (ATX): T T I TEAT ST ATATAL F AT Ga &l gTerT 9gar 2, e &t
TS, STF ST TSI w1 QT 21 g
R
(a) =TET (1) 3 FHTLOT (M) FAT T & ST FHILOT (A1) T (T) FT Tl TSR 5|
(b) AT (W) $I¥ T (T7) AT A & ¥ AT (A7) TG (7) FT FE FTEFLT TE &
(C) =TAT () FEA & ACHT FTLI (3M17) T &
(d) T (W) T & ATRT T (A7) 7 2
Read the following statements: Assertion and Reason. Choose one of the correct alternatives
given below:
Assertion (A): Management is an intangible force.
Reason (R): Management has to adapt itself to its changing external environment, which
consists of various social, economic, and political factors.
Alternatives:
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation
of Assertion (A)
(c) Assertion (A) is true but Reason (R) is False

(d) Assertion (A) is False but Reason (R) is True.

Q.8. weE" F AEiql & gaH # Fefed # § &9 97 F97 99 87
(a) W& & Rrgia fFwfEa gu 81 (b) waee F frgia st o frafaa 92 gu gl
(c) rerer F gt forere i aaa afemar & 81 (d) 3736 § 7 #rs 9811
Which of the following statements is true with reference to principles of management?
(a) The principles of management have evolved.
(b) The principles of management are yet to be evolved.
(c) The principles of management are in the continuous process of evolution.
(d) None of the above.
Q.9. s T ST B
(a) SIfereTT FT (b) ITLETHAE &7 (C) TaATae! &7 (d) TAH & T 7 781
The delegation can be done :
(a) Of authority (b) Of responsibility (c) Of accountability (d) Of none of these



Q.10. &ee & fA=ror g Aeferer & & /T w781 6T S ashar g2

() TR=F=ToT T SATIATIAS ATATAL & ATELT HTEH] Hl ST €T F HLATTET FT T 2|

(b) FR=ror #7137 ITART Ag ATHT 2t o Forw v Srar § 1 TR st smaartas asi wr
TR FEAT Bl

(c) FR==Tor &1 TRTeHAT &7 A HATHOT F2eh [UET § AT FIF o TATH § Hag F:7d g o6 i
HTAF T ST LAYV 8 AT AR

(d) TR=I=ToT & HHTEAT T FETET AT FH FA § HIE (AT g oraH FqaT o warasfiear agdr 8

Which of the following cannot be achieved by control function of a management?

(a) Controlling functions can suitably modify the external factors of business environment.

(b) The controlling function is used to ensure that the organisation meets its business goals.

(c) Controlling functions help the organisations in their effort to improve quality by verifying if

the standards set are accurate and objective.
(d) Controlling helps to reduce wastage of resources thereby increasing efficiency and

effectiveness.
Q.11. "7 Tq: AT grar &:
(a) FFaTe (b) SIATT=TIE (¢) SiT=TRE (d) FAramf
The organization is created automatically:
(a) Functional (b) Informal (c) Formal (d) Departmental
Q.12. 4 Sl 97 U
(a) TUTST AT (b) T AT (C) AGTHTL (d) IcATE To{if=a%
Henry Fayol was a :
(a) Social Scientist (b) Mining Engineer (c) Accountant (d) Production Engineer
Q.13 IfE FE ITHIHT TST ST § TR ST & IE TGl &, AT g Ht GOITATY % Ha< TET
AT A TS FT gt 2
(a) 10 f&= (b) 20 37 (c) 30 fa= (d) 45 fo=
In case a consumer is not satisfied with the order passed in the State Commission, he can
further make an appeal in the National Commission within a time period of ____
(a) 10 days (b) 20 days (c) 30 days (d) 45 days
Q.14. . e EAEIERIAENIRRERIE E R CRE IRV kA
(a) fa<fra === (b) fB<ha Aot () o< wa=er (d) o< f_eee
........ means determination of financial activities well in advance:
(a) financial arrangement (b) financial decision (c) financial management (d) financial planning
Q.15. =3 FTve * AT sraeTs )
(a) BreT AT/ (b) T (c) ATF T ST+ (d) ST A+t
Essentials of a good brand are:

(a) Short name (b) Easy to remember (c) Attractive design (d) All of the above
Q.16 = & & Fiw &1 MgReT FT & § ?

(a) T2 (b) fRFSI (c) 773 (d) =7 & FrE 7L

Which of the following is the function of appointment?

(a) Organization (b) Planning (c) Selection (d) None of these



(WTT-9) Section B Answer the following Question (7X2=14 Marks)
Q.17. afersh it #=41 a=re STt 872
Why are economic policies framed?

Q.18. HIEH UF W& TqLT Tavaa g a8 a- qT T 7 agd Aqema | T@ar gl gl (s 36 FHATT
T T TATH AT FaTal i ORI Fd & F11% v oAl & [ T A7 Ih=ra aiie i 3= &9 1w
el AT ST 2T &, AT & T FA F o0 A 3t Fwrdwy 7t a1 = g1 A2t g+u+ F G g
T Jeared AT 3T 82
Mohan is a Middle Level Manager. He keeps all his subordinates under a lot of discipline. His
employees however complain of wastage of time and efforts as they feel that nothing is
being assigned in a proper way and a proper place, also no proper schedule is made for
working. Which principle of management is violated here?

Q.19. wa=er F¥ 21 FFrwaTd aaram

Explain two characteristics of management.
Q.20.¥Te B &7 F47 7A § ?
What is organisation structure?
Q.21. =99 & F7 ATTWT g ?
What is meant by selection?
Q.22. 'gAaTE & ATHFT HT T ITATH % (7T 7T 75 872
What is meant by "Right to be heard" to a consumer?

Q.23. T FT g ?

What is Communication?
(WTT-9) Section 3 Answer the following Question (8X3=24 Marks)
Q.24. fAger &t UFar ¥ ‘Areer FT UFAT H AqT Iq120 |
Distinguish between ‘ Unity of Direction’ and ‘Unity of Command’ ?
Q.25. Tt sreET it Goft ST FT TN FA AT HTEH HT JUT H?

Enumerate the factor affecting the capital structure of a business?

Q.26. St<TTT frfies U a8 Iiafsd Fue! § 3 F ART 27 01 F =97 ATad & | 39 ST § FHATT agd g 5
S =T A @ [ o T AT & |99 H 9 |
AT 7 Tl T St 9= adwTT od §9e1e e ST 9 F:Er 9m
s 7 g I3 S7eiA sr@aTe & wreaH | saae AT o7 $iw 3w U=, §99Y % U u¥ Agw BT
A  FgT T ITHT T AT GEAT F TR =TT | A T A7 o 7 g A@ae | Fwrs famrae o1, {6 off 3+
HTEr ATSATSUH STFHITATE | FATIT TIT &l & q THATT T T2T5 I FdeA ATl o,
() UL F4T TS| % Uk Hged Ul FT3 6T AT Tohd FT T2l gl THLT % FTF FHT 910 Jaqr24|
(3T) 9T (T) F TEATAT AT TeF FTH T [T TORAT AT SATELIT FAT gl TH TOHRAT 6 T2 il ATEAT FY
Sy ==t s o § Y ST @ R




Ashoka Ltd. is a highly reputed company and many people wanted to join this company. The
employees of this organization are very happy and they discuss how they came in the contact with
this organization.
Aman said that he was introduced by the present sales manager, Mr. John.
Jitender said that he had applied through the newspaper and was appointed as the H.R. manager.
Vaibhav said that he was neither related to any employee of the organization nor was there any
advertisement in the newspaper, even then, he was directly called from IIM Ahmedabad from where
he was about to complete his MBA.
(A) The above discussion is indicating an important function of management. Name the function of
management.
(B) The management function identified in part (a) follows a particular process. Explain the step of
this process which is being discussed in the above para.
Q.27. UF =g ATUE ATH o IO T 07 FH|
Explain the qualities of a good brand name.
Q.28. 'SR HLEAT ATATTH 1986' A=qTd Uk IUSITHT o [hegl @ ATEHILI T AHATIT
Explain any six rights of a consumer under the Consumer Protection Act 1986.
Q.29. faqorT F IZ9AT FT TqTUl
State the objectives of Marketing.
Q.30. “THw=T Ja= 7 917 1" 7% fifom)
"Co-ordination is the essence of management." Discuss.
Q.31. fa=fi RS ¥ 98 & 99y |
Explain the importance of financial planning.
(WT1-g) Section D Answer the following Question (4X4=16 Marks)
Q.32. ATAATIF ITHA H TATS YT I TATEAT FTA a1 T HT A0 D0
Explain the factors affecting Fixed capital of a business enterprise.
Q.33. faerrer, U feorsht warersh, 7 UF "eld Ug of o7 fasht dew griee < forw| 3| Iuartser & qrfed 918 12
st T T ST Ty weelw % forg et % =HEar g 378 JHTor o yere R T
1. frerTer &1 w=T 3T 0 SreATe s 7 AT adarsu)
2. TIcHTEA % THIL i TgaTT A3,
3. 9T (2) § TgATH U THTL 6 &7 FT TIHTAT o 719 JAT10|
Vishal, a sales manager, achieved his sales targets one month in advance. This achievement was
displayed on the noticeboard and a certificate for the best performance was awarded to him by the
CEO of the company.
1. Name the incentive provided to Vishal.
2. Identify the type of incentive.

3. List two other incentives of the type identified in part (2).



Q.34 RAfme e gt 7 F47 ATTITT & 2 66 e T AT TqTAT |
What do you mean by Divisional Organisation structure? Explain any three advantages of it.
Q.35.Fa%7 daa+ = fafe=i #7 v F0)

Explain briefly techniques of sales promotion.

(MT1-8) Section E

Answer the following Question (5X2=10 Marks)
Q.36. "I & qivaTud FIm) 6T qgea #7138 ?

Define Planning. What are its importance ?
4T (Or)
IERIECIERIECE D E SR b pl
What do you understand by planning process? Explain.
Q.37."TH==T07 F T3AT ToT iE T 8 2 " 39 FI9 & (g e & oy a& 3|

"Planning is meaningless without controlling? Give your arguments to justify the statement.
JT4T (Or)

TR A9 AR # T o Ueh 7 ] AN F7 F1 TIE F T 81 T Tg a8 SATAT 17 Fl IThT qaraq
THAT o ATETE TE9T F3 2 5| [T U 92 § g 19 AL A7 FATAT 8 3T AU S0 & g A= % forg
FgaT g T Sveiv T waelq o 81 e fam =g v sr £ st shreat i g g Ryt aea 720 79
oft| 7rg ot o s & 12 oft 0 9 T =< q81 SITua 79 a 3 20 T 7 98 ¥ g2 T &l A
1. T ST Il ST FTT TE& T hId d7 F13 AT ST 72T 82

2. IR A H 20 FATR?

3. 30 SR Y o forg aRor & ded Fuiia fasan mam o1 3@ S9eT Hew@ 1 82

Gagan is trying to apply a function of management in his department. First he lets his team perform according
to their best potential. Then in a meeting he calls his subordinate and asks his team to check what they have
performed. One day it was found that the total number of units produced were 20 less than the set target. It
was decided that no worker will go home unless and until this gap of 20 units is overcome.

1. Which function of management is being performed by Gagan and his team?

2. What is '20’ in the above case?

3. At which stage of management do you think the target was set? What is its significance now?
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Model Question Paper

Design of Question Paper

(Blue Print)
Sr. Name of the unit 1 2 3 4 5 Total
No. Mark Marks Marks marks | Marks | Marks
Units
1. Nature and Significance of 1 1 1 - - 06
Business
2 Principles of Management 2 1 1 - - 07
3 Business Environment 1 1 - - - 03
4 Planning 1 - - - 1 06
Choice
5 Organising 2 1 - 1 - 08
6 Staffing 1 1 1 - - 06
7 Directing 2 1 - 1 - 08
8 Controlling 1 - - 1 06
Choice
9 Financial Management 2 - 2 1 - 12
10 Marketing Management 2 - 2 1 - 12
11 Consumer Protection 1 1 1 - - 06
Total 16 7 8 4 2 80
Marks




